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of: 11* x (1 = 11 x)) 1= 11Qx17=1x1
112x12 = (Qx)T(Qx) = x Q QX = Yx +1x1)
I

= I

(Qx((Qx) = **Qy = *Yo
.
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expla :

8

[(8 T

P
Challenge : show that any

permutatio -etex is

an athognat water

Challey (*) : Show that In any
P peretation

mater then exists k a positive integer
such that p"-I

.
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1 Projectic withothono-al basis

Pop: Let's be a subspace of
M

and 90 , -- , 9 n an othoneal bags ofS.

Q) the projection Makex that
projects to S(C(Q1)

is give by QQ
S

Proof the projectio mating is given by-i

P = QaQQ=QQ
,

--
I

Projg(b) = QQ b
.
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What is the Least Square solutie fr
Q x = b

we know it is the solution to the nowal eq.

QQX =Q b
M

X = Q b








